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1. Which of the following is not a part of a DC
machine? A% # & a1 T DC A=A &1 HIT AT 82
(A) armature 3THTR

(C) tap changer €9 T5R

(B) Commutator BRICR

(D) brush sIRr

ANS:- (C)

2. The commutator of a DC generator acts as

e UrT 5 (FAF) BT fGruRRad® fea su A Hrf
PAT 8?

(a) an amplifier Yol

(b) a rectifier flGEBRY

(c) aload HR

(d) a multiplier I[0Th

Ans: - (B)

3. What will be the effect of changing the flux of a
DC shunt motor on the speed control? f&dt DC 2ie
HIcR & Treterd H IRadd o1 &b T1fd o1 R o=
gRoTH ghmr?

(a) Constant torque drive f&R 31reof grsa

(b) Variable torque drive URadT 3repof grga

(c) Constant power drive frett gifth gisa e"TIdR
foisTett 3T8d 3UER i & URAM &ear 8

(d) Variable power drive URadT 2rfdh g8a
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Ans : (¢)

4. Which of the following motors is used for
centrifugal pumps? 79 & @ &9 T #ieR 3udbf<a Uy
H STaHT 6t STt 8

(a) Series Motor/Tust HTCT {31 AR / ee vaddtd
(b) Shunt Motor 2ic HI&X

(¢) Induction Motor IR AIeX

(d) Either series or shunt a1 2ot a1 @Y 2

Ans : (b)

5. A DC motor is preferred over an AC motor due to:
DC HIX i 37987 AC HIR & SEAHTS bl STaT UHE B
BT BRUTE :

(a) High speed operation 3 7Tfd 3{T0RRM

(b) Low speed operation 77 7fd 3iaR2[

(c) Fixed speed operation f&R 7fd 3iaRe[

(d) Variable speed operation URRadf 7fd 3iTaReM

Ans : (d)

6. Motor used for punching machine is subjected to

dfent wRfiA & e 3ua {6d 51 areft M’k wR......f&am
STar 2|

(a) No load AT &l

(b) Continuous part load Idd 311f2i& &g
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(c) Continuous full load ¥ddq quf #is
(d) Intermittent load 31fRaR (s<ffe~) @S
Ans : (d)

7. Which of the following is not a part of rotor?
fafafRad & & Sar T AR o1 T 8 82

(A) Core BR

(B) slip rings f&@u &g

(C) shaft AToe

(D) winding aTsfsTm

(E) frame o/

ANS:- (E)

8. The rotating part of a DC machine is called ..........
fesdit DC |2t BT FAA aTedT WP ........ BEATAT 1

(A) rotor R

(B) stater TR

(C) armature 3HzR

(D) Commutator BRIER

ANS:- (c)

9. D.C. In machines, the armature winding is
wrapped around which of the following?

gt ety §, 3mier ansfe o fRafafaa § A fea w
e STTaT 8?

(A) on the closed slot of the rotor eI & &g Tilc W
(B) on the half-covered slot of the rotor Ie3 & 31T&}
@b g Talle W

(C) open slot of rotor AR & Gl ¢ W

(D) nowhere @&l Mt 78

ANS:- (C)

10. In a DC machine, the rotor from the shaft. ...

fiodt DC 7T A AR, 2Me A . . EaT 81
(A) bolted :dice faar

(B) (Key faam

(C) welded des fdar

(D) soldered TiesR fpar
(E) none of these &8 A I3 T&t
ANS:- (B)

1. The commutator segments are insulated from
each other by:

feaRede® (PRICR) wsT Bl v iR & fufeifad grT
i (fareariet) fomam StraT 2 -

(a) Mica Hl®T

(b) wood cTdal

(c) paper ®PT5T :

(d) glass b

Ans : (a)

12.The type of motor generally used in the transport

vehicles is

"HTH dR W URee el # U A &1 TbR 2 "

(a) DC series motor SHt gaeil AIR

(b) DC shunt motor gt 2 AR

(c) Separately excited Dc motor 37ePT & 3cdTfgd sidt
Al

(d) DC separated combined motor gi&t 37eTT AGTh
HIR

Ans : (a)

13. What is the function of starter used in DC motor
?

1t Hie A v-Ieh IR BT 1 B 2 ?

(a) To increase field circuit resistance &= aRu
afalie | gfg &l

(b) To limit the starting current TIfeI ie P TifFa
BT

(c) To reduce armature resistance $pscil Ufde o1
BH HIATI

(d) To reduce reverse emf Rad emf &Y &H AT
Ans : (b)
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14. Back emf at the starting of DC motoris____

St Wi ® wIfen & a9g 9% emf ...... BT 1

(a) zero [

(b) applied emf TITsS emf

(c) greater then applied emf TWIT8s emf & 31feids
(d) maximum 31feiban

Ans : (a)

15. In a four-Pole DC machine___

U IR Ul STt At o ___

(a) all the four poles are north poles IH! TR GleT
ANS: UlcT 81 2|

(b) alternate poles are north and south d&fedd gial
ANS: g cféjor gld 2|

(c) all the four poles are south poles Tt IR UieT
gfefor Uiet 2id 2|

(d) two north poles follow two south poles &I 3a3t
Gie, 1At aferoft diel &1 3192R0T d 21 |

Ans : (b)

16. By looking at which part of the motor it can be
easily confirmed that a particular motor is DC
motor?

T fdsam STRm?

(a) Frame %H

(b) Shaft 2ITd=

(c) Commutator BRICR
(d) Stator &R

Ans : (¢)

17. For starting a dc motor a starter is required
because_____

2} 1 Hiex B Wi BA & feie WIdk bl 3aRIBdr erdl
g Fifdb

(a) it limits the speed of the motor JE HIR &t ATl
®! difAd aar e

(b) it starts the motor Ig HIeI Bl WIE Tl &

(c) it limits the starting current to a safe value Jg
TIFET YR B Gferd A & HiaR RaaT @

(d) none of these 378 & ®Is A&l

Ans : ()

18. The below given Torque-Load represents the
characteristics of :

= fear s erds-as agb faadt fadrar ot gorfar g1

A
T
e
= P
(o)
5
=
(0] >IL
Load Curent

(a) DC Series Motor/DC uft HeX

(b) DC Shunt Motor/DC i€ Al -

(c) DC Compound Motor/DC @438 HIe?

(d) DC Series Motor and DC Shunt Motor both/ DC
Uil AR Td DC 20 HIe gl

Ans : (a)

19. The armature plates are kept parallel or at ...
distance in a DC machine with the help of:

79 7 @ fesgdst Aeg @ DC A A 3R ___ widi &t
AT T A G R AT A7 2.

(a) Yoke Tb

(b) Pole shoe TleT ][

(c) Commutator BRICR

(d) End plate fG1 wie

Ans : (d)

20. Yoke made up of cast Iron employed for
generators having
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SdT dle d g4 A 37 SR & e 1T fbd sira
(a) Low KW &H fdaiare

(b) high kW 3= fdseftare

(c) any kW @18 Ht kw &

(d) Yoke is naver made up of cast iron/a® ®1- BHT
vl gctar &g & 98 gt siTar @

Ans : (a)

21. Which of the following collects current from the
commutator?

frafafad # @ P R  URT Wfed oar 22

a) Bearings feafar

(b) Bearing plate ferafor wie ...

(c) Carbon brush @Teld §12r

(d) Terminal plate e e e

Ans : ()

22. The armature current of a dc motor is given by

3t . #leX &1 3THER Bic BT 8 (Eb-U emf 3R R =
TR ufasien)

(@) 1= (V - Eb)/Ra

(b) I = (V Eb)/Ra

(¢) 1= (V - Ra)/Eb

(d) 1 = (Ra - Eb)/V

Ans : (a)

23. The back e.m.f. of a dc motor depends on _
gl . AR BT 9y emf Fufdfda w Ak war e
(a) field flux tics TeTa g

(b) shape of conductor dTeTds i 3Tpid

(c) brush material I &t HTHIIT

(d) type of slip ring U o1 &t fooem

Ans : (a)

24. The direction of rotation of a compound.

dc motor can be effectively reversed by
interchanging ___

Tigeua 2. 4. - Hiex & i B feen Fafafad o
TIH H URER SGel BRdb JHTdT &7 A faudia ot 51
(a) line loads @T&q @IS

(b). series field connections 20f} Hhies BAaRT
(c) armature connections 3THIR BAGAT

(d) shunt field connections 2i¢ Hies BHAGRIT ...
Ans : ()

25. A dc motor can be easily identified by .....

gt It ik 3 FRufeifdd gRT TRerdr @ g @1 511 Jbdl
2

(a) yoke T1BdbH

(b) size of conductor dTeld BT TS5

(c) commutator FRICR

(d) winding arsf3m

Ans: ()

26. Carbon brushes are used in electric motors to :
Soifdgd Al A Bl qRITYH ald & :

(a) Brush of carbon deposit on the commutator
feauRRade o 517 B B 16 B & fde

(b) Provide a path for flow of current YRT & F&Td &I
AT UG &34 & feie

(c) Prevent overheating of armature windings 3TTHeR
STEfEI &1 31fd 399 & g & fae

(d) Prevent sparking during commutation fgaaRRadT
& SR T bl A F feie .

Ans. (b & d both) :

27. Lap winding is most suitable for :

oY TS TEd SATET 3UAT AT |

(a) Low voltage, low current machine 78 dieear, g
YR ARMAT 89

Download App

GETITON
” Google Play

CSTA Launchpad
© O0pen Mind Guruji

Subscribe YouTube Channel Page | 4

© 0pen Mind Guruji



>> CSTA Launchpad << Technical Competitive and Academic classes (ITl, Polytechnic, Engineering)

Add: Gurunagar Teacher colony, Bhadrawati (MH) Website: cstalaunchpad.in | omgfreestudy.com

DC Machine IMP MCQs for Technician Electrician | &<t + English

(b) High voltage, high current machine 3= dieedT,
3o URT ARftAT 2q

(c) Low voltage, high current machine fA% aieedr,

3o URT ARftAT 8q

(d) High voltage, low current machine 3= dleedT,

9 uRT ARitAT 2

Ans : (¢)

28. A commutator in a DC machine can convert :
A, . (Rrafada) 77 § v sRe Fafafad ot
yfRafdd B i @ :

(a) AC to DC ©. &t. 31 &t 4.

(b) DC to AC 1. Tt. B & &t

() Pulsating to DC TeHM & 5. .

(d) Both A & B/A 3R BGHI

Ans : (d)

29. The slip of an induction generator is :
T IROT 51133 &1 ety fRafafad gar e :
(a) equal to zero Y & SRTeR

(b) greater than zero =T & 31ftic

() less than zero [ & BH

(d) none of these STH & ®Is 78]

Ans : (¢)

30. Which of the following dc generators is most

suited for parallel operation? AR JATeH & fdE
fufcifda & @ a3t d. ARe aed 3ifds 3w 82
(a) Series generator/SAelT AR

(b) Shunt generator/2i¢ 3iRe

(c) Compound generator/&gwh S

(d) Differential generator/3/IHTT 31X

Ans : (b)

31. In lap winding, the number of brushes is

always____

AT arefen & g2 B Geareden ___adie

(a) double the number of poles UieT @t H&AT & Gt
(b) same as the number of polesUld & TEAT & Sa-t
g

() half the number of poles Uil & T&aT 4 3meft

(d) two Gl

Ans : (b)

31. In D.C. generators, the cause of rapid brush wear

g1, SRS A 510 & STed! WA 81 &b BRUT ____&
qBar e
(a) severe sparking g TWRIHT
(b) rough commutator surface gs@Tes fGaaRad®
dde
(c) imperfect contact TGy HAIT
(d) any of the above Ut ®I3 Ht
Ans : (d)

31. Rating of DC generatorisin.........DC
FRR B AT ........ A Bt B

() kw

(b) KH

(c) HP

(d) KVA

Ans : (a)

32. What is the main function of brush in DC
generator?

DC SRe # S BT & B a1 81T 87?

(a) rotating shaft - T Bl AT

(b) cleaning the machine H2fT & TTH HAT
(c) collecting the Current ¥RT &I BhiAd BAT
(d) cooling the machine H2flF &I 33T BT
Ans : (¢)

99. What type of winding does a DC shunt
generator have?
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DC Qi SRR # food YR Ft arsfsi aldt 22

(a) Series field winding i1 Wies arsfsm

(b) compound field winding @UT3g WHieg argfem
(c) Shunt field winding 2i¢ Hieg argfem

(d) both shunt field and series field winding. i
Hies 3R TR Fies arsfsm SHY |

Ans : (¢)

34. Interpol is used for .....

U BT YAI.... & feie fdsar simar 1

(a) changing the direction of armature 31T#zR &t
féom sgel

(b) to reduce the rate of change of stream 2RT
YRadd Bt e BH B

(c) to get smooth commutation &2 BRIEM UTH
B

(d) increase the spark in the commutator. BRI #
femT sem |

Ans:c

35. A brake test on DC motors is confined to :

DC AR &1 §ich X ....... T STTdT B

(a) Small horse power motors &H 31% 2lfdh dTet Hic3T
& fae

(b) Variable speed motors URed! aTet aTeft AT &
foie

(c) High speed motors 3% dTel dTeit Hies) & feg 18
(d) Open frame type motors el %H UPBR Bl Hic b
fae

Ans : (a)

36. In AC series motor, armature coils are usually
connected to commutator through :

UTa: 07t HieX H TR Piset FRYLR F ...... B §RT 53T
Edr gl

(a) Resistance UfaRrE

(b) Inductors Wb

(c) Capacitors TETRA
(d) Solid contact Iifcis a9 duds
Ans : (a)

37. Regenerative braking on shunt motors is used
when load..........

9 2fe Hied R aAs.......aY d5Rfea ST oty
fsan straT 21

(a) Is variable gRadTf &t

(b) Is constantly decreasing @PTTdR &H & I&T &l

(c) Acts as braking force Sifés BRf & U & B1f &7
(d) Has overhauling characteristics 3MtaRgiet faiear
areT & |

Ans : (d)

38. To determine no-load losses in DC motors............

test is performed :

DC AR H A1 713 &/ & 7UMAT 31 & feie| ugeh fban
EIERIGIE RIS

(a) Running down CEEESEL]

(b) Swinburne's TTseH

(c) Field ties

(d) Brake S

Ans : (b)

39. If the conditions of DC motor are established,

the efficiency of the motor will be:

gf¢ DC AleR Pl 3T Bl AR &R G711, af Ak
&1 gerdr.... 8 et

(a) Less than 50% 50% & &H

(b) 60 to 70% 60 & 70%

(c) 80 to 90% 80 ¥ 90%

(d) 100%

Ans : (a)

40. A face plate starter is used to start :
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fAufciRaa # A fbd TTe] B3 & felt Bd wie IR BT
39T {6 iTdn 22

(a) Induction motor $3a2[ HIX

(b) Universal motor gfiadel HIcX

(c) Synchronous motor fashIAH Hiex

(d) DC series motor/DC Eit $j3aell Hiex

Ans : (d)

41. All motors basically operate either on the
principle of repulsion or___

AR Hied 7ot BU § ufdesor srear ____fHgid R e
GG

(a) Super conductivity 31fd @TeidbdT.

(b) Capacitance &mRar

(c) Resistance Hfaly

(d) Inductance 399Tc (S5de~q)
Ans: (d)

42. In a DC motor, unidirectional torque is produced
with the help of :

DC HIeR # vepfeRitar el fRufeifda # @ feadt
HEIdT A 3cud b STTdT 8?2

(a) End plates U3 @ic

(b) brushes sIR[

(c) Commutator BRICR

(d) Both brushes and commutators SIRI Td BRICR
aHr

Ans : (d)

43. Which motor has the poorest speed control?
fas HIeR &1 71fG 33307 37 )19 8?2
(a) Differentially compounded motor fﬁ'ﬁl‘cﬁ?l’ﬂ?ﬁ

(b) Cumulatively compounded motor Hzrit @b

Ans : (d)

44. The plugging gives the _
W@PPT____edTe.

(a) zero torque braking [~ B& Ab

(b) smallest torque braking figad €aq A%
(c) highest torque braking 31fefsdd €4 Ab
(d) none of the above Ut &I &t

Ans : ()

45. Which of the following motors one will choose
to drive the rotary compressor ?

A BIRR B I & fede g 7 & -ar AR AT
SRR

(a) D.C. shunt motor 1., 2ic AR

(b) D.C. series motor S1.#. $jzaem Hicx

(c) Universal motor TTHT HIX

(d) Synchronous motor GH®I b HIcR

Ans : (d)

46. If the speed of a D.C. shunt motor is increased,
the back e.m.f. of the motor will

e g1:3ft. 2ic diex B 71fd gers s11dt &, aY Al BT db
(U%) SEHE___

(a) increase 37T

(b) decrease =

(c) remain same T&t &M

(d) become zero [ =l

Ans : (a)

47. If a DC shunt generator supplies a load of 1.8kW
at 9 A and the shunt current is 1A, then the
armature current__

Tfé DC 2ic 5T 9 A TR 1.8kW BT HR USH BidT & 3R

Hew AT PHIC1A 8, AY MR dbic____
(c) Shunt motor 2ie AR (A) 4A
(d) Series motor $RaeT AIeX (B) 5A
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(C) 9A
(D) 10A
(E) 27A
ANS:- (D)

48. A DC shunt generator delivers 15 amperes to a
load at 220V terminal voltage. Shunt field
resistance is 220 Ohm. The armature current will be

DC 2fe TReR 220V EfHeT dieedl R YR &I 15 SRR
YeH &dl 2| e Wies UfaRier 220 378 1 3R URT
............... Huil

(A) 16 A

(B)10 A

(©)15A

(D)1A

ANS:- (A)

49. A 4pole 1200rpm DC lap wound generator has
1520 conductors. If the flux per pole is 0.01 weber,
the emf of generatoris_______

TS 4 Yitd, 1200 Rpm ST, éqgo—gﬁ?rm%aﬁﬁzo
T 21 Ife Ui Ufd Ed 0.01 AeR &1 dl 5T Bl
emfg

(a) 608 volts/608 dicT

www.cstalaunchpad.in

(b) 304 volts/304 dlce
(c) 152 volts/152 dieT
(d) 76 volts/76 dlce

50. A lap wound de generator having 250 armature
conductor runs at 1200 rpm. If the generated emf is
200V, then the operating flux of the D.C. generator
is___

250 3HTHR dTeTd dTel U oY Ppsfeid D.C.. 5T 1200
rpm WR IadT g1 AfG 39T 31fAd 'emf, 200V &), df 39
D.C. 5175 T UdITe geiad fdbadT ePm?

(a) 0.08 wb (b) 0.04 wb (c) 0.06 wb (d) 0.02 wb

Ans :(b)

51. A 4-pole d.c. generator runs at 1500 rpm. The
frequency of current in armature winding is ___
UE 4-Yd fEEm31fA= 1500 rpm W IeTar 81 3R I8T
H URT 61 31gfd &

(a) Zero/R[™

(b) 25 Hz

(c) 50 Hz

(d) 100 Hz

Ans : ()
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